ﬁ
¥ [
72 (e 2

BuE (3| o

=g (3
| e |- | R

N0
son
=

EHFES 161224012

b EO# A E S

LSEE-EBEHEEHFH

M6 &F 3 A




LEEBFERERICRIEEMERTRIIERS

% g - AKTiE Bifr 2 fiff & #B w E
E R 18,637,100 + 854, 381 19, 491, 481
BEEAGE 18,637,100
E#ERE 854, 381
T At R i 18,637,100 x 53.85% ( 35% + (1 — 35%) ) 10,036, 078
KHRE 19,491,481 + 10,036,078 29,527, 559
—REEES 29,527,559 x 53.85% ( 35% + (1 — 35%) ) — 8,149 15, 892, 441
KB 29,527,559 + 15,892, 441 45, 420, 000
HEREHELE 45,420,000 x 10.00% 4,542,000
EHETEH 45,420,000 + 4,542,000 49, 962, 000




BERRE BESEEE R LRI EA AR TR LS

% L] R& - MAKSTE BfL % B B ' # m =
BRI 19, 491, 481
LERERERERICRIGEFHEATRIRS 19, 491, 481
ifé%iﬁiﬁﬁ?&fﬁ$%(:ﬁ&%’)%E%ﬁﬁi%ﬂ‘ﬁﬂﬁﬁ% 19, 491, 481
EEAGE 18,637, 100
EEEBICET SR THENILE 255, 600
1 EEEBICET SRTHEDILE 1.00 255, 600 255, 600
=
BEEEBOHRT 17,575, 500
2 BXOFERUVHITERICEY 41K 1.00 6, 762, 000 6, 762, 000
e =
3 BWEGEHICHT SMIEXRE 1.00 6, 762, 000 6, 762, 000
=
4 SR EICEY S RIEETS 1.00 4,051, 500 4,051, 500
=
BEEEZBOERAEFDBIED-ODHEK( 407, 000
F)DEH
5 BEERBOXRBHFOBRIEDO-ODA 1.00 407, 000 407, 000
/(X)) DEH .
=
&€ 342,000
6 TAtE 12.00 28,500 342,000
=
& - |WE 57,000
1 & - |E 2.00 28,500 57, 000
=
EEEE 854, 381
EHARE 182, 381
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% L] R& - WAKSTE BfL - B ' # m =

8 EHAME 1.00 182, 381 182, 381
=

FHERRE 72,000

9 EHHEM 1.00 72,000 72,000
=

EBRAEBEENE S UVEGRES 600, 000

10 XBEAEPEENE L VEGRES 1.00 600, 000 600, 000
=
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=T
& BEEERICEAT SRTEEOILE XLy
%4 7 R - AR R BAf = B i & # # B &
HEn (A)
A 2.00 57, 000. 00 114, 000
HEm (B)
A 3.00 47, 200. 00 141, 600
& E%82H : 1.00=% 255, 600. 00 255, 600
5:2
B BEOMHERUPITERICET SMEER XLy
% 7 R - AR R BAf = B i & # # B =
HEm (A)
A 6.00 57, 000. 00 342,000
HEn (B)
A 75. 00 47, 200. 00 3, 540, 000
A (C)
A 75. 00 38, 400. 00 2, 880, 000
& E%82H : 1.00=% 6, 762, 000. 00 6, 762, 000
5:3
L B ERERICET HEELERE XLy
% 7 R - AR R BAf = B i & # # B =
HEn (A)
A 6.00 57, 000. 00 342,000
HEm (B)
A 75. 00 47, 200. 00 3, 540, 000
A (C)
A 75. 00 38, 400. 00 2, 880, 000
& E%82H : 1.00=% 6, 762, 000. 00 6, 762, 000
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5:4
2 hEEERRICEAT AMIEES 1XEY
2 Lo R - BIRTE BARL 2 B ff € &8 # B &
HEn (A)
A 3.50 57,000. 00 199, 500
HER (B)
A 45. 00 47, 200. 00 2,124,000
AR (C)
A 45. 00 38, 400. 00 1,728, 000
= 5 1YE%HeH - 1.00K 4,051, 500. 00 4,051, 500
E =)
2 EEEBOERAEFDOEIED-HDH K (F) DEFH 1XEY
2 Lo R - BIRTE BARL 2 B ff € &8 # B &
FEHED (55
A 1.00 64, 800. 00 64, 800
HEn (A)
A 3.00 57, 000. 00 171, 000
HEm (B)
A 2.00 47, 200. 00 94, 400
AR (C)
A 2.00 38, 400. 00 76, 800
= 5 1E%HeH - 1.00K 407, 000. 00 407, 000
5:6
B HTEE EEY
2 Lo R - BIRTiE BAGL 2 B ff € &8 # B =
HEn (A)
A 0.50 57, 000. 00 28, 500
= 5 1YEZHER - 1.00[E 28, 500. 00 28, 500




Rifiz -/ \v7r—o

LESEFERERCRIEEMESITREAES

&5 .17
B 1% - | 1EHY
£ 7 R - KT By = B Of & | W E B &
HEn (A)
A 0.50 57,000. 00 28, 500
= 5 {EZ8ER - 1.00mE 28, 500. 00 28, 500
5:8
2% EHARE XLy
£ 7 R - KT By = B Of & o W E B =
EHARE
= 1.00 182, 381.00 182, 381
= 5 1EZBER - 1.00 182, 381.00 182, 381
&5 :9
B EBBRR 1LY
£ 7 R - KT By = B Of & | W E B =
XBRRRE
= 1.00 72, 000. 00 72,000
= it 1EZBER - 1. 00 72, 000. 00 72,000
H5:10
& EBAEBEENS K VELRESE 1LY
£ 7 R - KT By = B Of & o W E B =
4 kY 1.5L
A 12.00 50, 000. 00 600, 000
= it EZBER - 1.00= 600, 000. 00 600, 000




